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Inverses of Trig Functions (coZ):;P('Q p.49
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« When we find inverses of trig functions, we are "going backwards" to
find an angle that has a certain exact value.

« Inverses are notated as sin™', cos™, tan™ or also arcsin, arccos, arctan

« Say to yourself "I find le wi [ "

-(-ri;{?m uIlue

*Since the inverses of trig functions will no longer be functions, we use
the principal values (the essential info that can be inverted).
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So restrict the domain for...

« sine & tangent, to be between -11/2 & 11/2 (Quadrants | & IV)
e cosine, to be between 0 & 1 (Quadrants | & II)
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9. cos(for! B )+ sin(cos0)
Cos (M) * sin (™.
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